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6b.4.674.914; 4,436,784
7b. 5,884,985 4510541
8b.A
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Developing
1a.1,140,000 + 3,642
40,042 + 1,103,600 = 1,143,642
1,100,642 + 43,000 = 1,143,642

2a. Zara is incomect because if you cross
the ten thousand boundary, the.
thousands, fen thousands and hundred
thousands columns will need fo change.
For example, 199,999 + 4,000 = 203,999.
3a. Various answers, for example:
7,291,506 - 4,291,506 = 3,000,000
7,291,506 - 3,291,506 = 4,000,000
8,291,506 - 4291506 = 4,000,000

1,143,642

Developing

1b. 1,400,600 + 85,017 = 1,485,617
1,480,007 + 5,610 = 1,485,617

80,600 + 1,405,017 = 1,485,617

2b. Adam s incorrect because if the
number does not pass the hundreds
boundary, only the fens digit will need fo
change. For example, 199,900 + 30 =
199,930.

3b. Various answers, for example:
6,854,291 - 4754291 = 2,100,000
4,854,291 - 3,654,291 = 1,200,000
6,754,291 - 3,654,291 = 3,100,000
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Expected
and C

6a. 1,625,900 and two million, three.
hundred and fifty-five thousand, eight

Expecied
Sb.BandC

6b. 4,465,715 and four million, five
hundred and two thousand, five hundred

hundred and five and thirty

7a. Roundsfo | Roundsfo|  7b. Rounds fo | Rounds fo
Number 2:900,000 | 3,000.000 Nomber 4,500,000 | 5000000
28587% 2 a8v6304 2
3015830 v 4395051 7
2945745 2 5003488 7

8a.2,710,000; 2,700,000; 3,000,000

8b. 5,260,000; 5,300,000; 5,000,000
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Expecied [Expected
5a.-8,-4,4,12,16 5b.-18,-12,-6,0,3

$a.7°C b, -£4.50
7a. False. The liftis 3 floors below ground  7b. False. The diver is 16 metres below sea
level (-3). level (-16).

8a. -7, -£2.50, 3°C 8b. 6, 10 metres below (-10), 6°C




